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GENERAL KNOWLEDGE

Who was the President of the Constituent
Assembly?

a) Pt. Jawaharlal Nehru -

b) Dr. Rajendra Prasad

c) Dr. BR Ambedkar

d) C Rajgopalachari

Who was the first Foreign Minister of free
India?

a) Jawaharlal Nehru

b) Gulzari Lal Nanda

c) Lal Bahadur Shastri

d) John Mathai

Secularism means:

a) suppression of all religions

b)  freedom of worship to minorities

c) separation of religion from State

d) a system of political and social
philosophy that does not favour any
particular religious faith

Which of the following is not a part of the
Preamble to the Indian Constitution?

a) Secularism

b) Socialism *

€) Democratic Republic

d)  Federalism ‘

Which of the following appointments is not
made by the President of India?

a)  Speaker of the Lok Sabha

b) Chief Justice of India

c) Chief of the Air Force

d) Chief of the Army

Which of the following is true about the

Supreme Court?

a) It has only the Appellate Jurisdiction -

b) It is the highest federal court of India

c) It does not have the Original
Jurisdiction :

d) It can amend the Constitution
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Public interest litigation applies to any case of

public injury arising from

a) the breach of any public duty

b) the violation of a constitutional
provision

c) the violation of the law

d) All the above

Which country of the following is known as
Gaul?

a) Britain

b) Ireland

c) Iceland

d) France

Who appoints the Chief Election
Commissioner of India?

a) President

b) Prime Minister

c) Parliament

d) Chief Justice of India

The world's largest nuclear power station is?
a) Chernobyl -

b) Kashiwazki-Kariwa

<) Fukushima-Daiichi

d) Kalpakkam

Which vitamin is provided by sunlight to the
body?

a) Vitamin A

b)  VitaminB

€) Vitamin C

d)  VitaminD

During sleep aman's blood pressure:
a) increases

b) . decreases

c) remains constant

d) fluctuates

The. first Indian doctor to conduct heart
transplantation in India is:

a) Dr. PKK Ayyangar

b) Dr. R Valiathan

<) Dr. Venugopal

d) Dr. R Kesavan Nair 35
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'Golan Heights' has become a controversial
issue between which of the following pairs of
nations:

a) Irag-Iran

b)  Israel-Libya

c) Israel-Syria

d)  Kuwait-Iraq

India's highest award given for exceptional
work in art, literature and recognitibn of
public service of the highest order is:

a) Param Vir Chakra

b) Bharat Ratna

c) Jnanpith Award

d)  Kalinga Award

Ramon Magsaysay Award is named after-the
former President of:

a) Indonesia

b}  IndianJournalists' Association

c) Thailand

d)  Phillippines

The biggest Public Sector undertaking in the
Counfry is..........

a) Iron & steel plants
b) Roadways

c) Railways

d)  Airways ,
What is the full form of "ULIP', the term
which was in the news recently?

a) Universal Life & Investment Plan

b) Unit Loan & Insurance Plan

¢)  Universal Loan & Investment Plan

d) Unit Linked Insurance Plan

Who is presently the Chief Justice of India?
a)  Y.K.Sabharwal

b)  R.C.Lahoti

¢)  K.G.Balakrishnan

d) P.Sathasivam

Human Rights day is celebrated every year on
a) March 8

b)  April7

<) December 1

d) December 10
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SEBI is associated with
a)  Stock Exchange
b) foreign trade

.. c) agricultural pricing

d)  public sector control

What are the crops harvested during Rabi?
a) Wheat b) Peas
c) Gram d) All of them

Amartaya Sen was awarded 1998 Nobel Prize

for Economics for his contribution in
a) Financial Economics

b) Welfare Economics

c) Developmental Economics

d)  None of these

‘White Paper means

a)  paper used for currency notes

b)  government paper for printing

¢)  government statement on a policy
matter :

d)  paper on which the constitution of a
country is written '

The revolt of 1857 started from
a) Delhi b) Jhansi
c) Meerut d) Lucknow

| Capital of the Maurya Empire was

a) Delhi b) Magadha
¢)  Partaliputra d) Yashodharapuram

Iceberg is

a) the name of a port on Greenland

b)  acityinlceland

c)  a huge broken piece of ice that floats
away from the Arctic or the Antarctica

d) artificial ice-skating surface

What does strong Rupee as against the dollar
mean to India?

a)  There is a Balance of Payments surplus
b)  Indianeconomy is globally respected

c) It is a sign of economic buoyancy

d) Income from exports is falling
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The largest software service company in Asia
is :

a) WIPRQ b)

c) Tata Consultancy Service
d) Satyam Computers -

INFOSYS

Which of the following rulers was illiterate?
a) Ala-ud-din Khilji

b) Mohammad-Bin-Tughlak

c) Akbar

d)  Aurangzeb

Capital market means
a) Mutual Funds

b) Money Market

) Securities Market
d) Banking Business

The National Dairy Research Institute in
Haryana cloned a buffalo calf and named it as

a) Gowri b) Tusna

c) Garima d)_ Shakthi
The right to vote in Indiais a

a) Constitutional right

b)  Legalright

c) Fundamental right

d)  None of the above

"White Coal' is g

a) uranium b) hydro-electricity -
c) ice d) diamond

Motorcycle was invented by?
a) Davidson b) G.Daimler
c) Benz d) MacMillan

Who destroyed the Somnath temple in
Gujarat?

a) Mohammed Ghouri

b) Mahmud Ghaznavi

c) Changhez Khan

d) Taimur Lang

Who is the author of 'Godan'?

a) Bhishma Sahani

b) Premchand

c) Manohar Shyam Joshi

d)  Sharad Chander Chattopadhyay
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Which of the following trees has medicinal
value?

a) pine b)
c) oak d)

teak
neem

The science of 'Ornithology’ deals with
a) Birds b) Fossils
c) insects d) Reptiles

Deficiency of blood is known as:
a)  amnesia b) anemia
c) insomnia d) infection

What does a 'teller’ in a bank do?

a) Deposits money

b) Disburses cash at the counter
c) Works at PRO

d)  Attends phone calls

Meteorology is the study of:

a) meteors and meteorites

b) The Climate

c) The measurement of length
d) The weather

The fourth estate is:
a) Press b) Property
c) Metals d) Tax

Begum Akhtar was associated with:

a) Ghazals
b) folk music
¢)  Bhajans

d)  Playback singing

Michael Angelo was a famous artist, poet,
painter, sculptor, architect of Italy, He can
rightly be called a 'brotherto:

a) Picasso

b) Van Gogh

c) M F Hussain

d) Leonardo da Vinci

Which of the following agencies has the power
to declare any industrial unit as a potentially
sick unit?

a)  BIFR b)
c) FICCI d)

MRTPC
IRBI
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What is Laissez-Faire?

a)  Mixedeconomy

b)  Controlled economy

c)  Non-interference of Government in
economic affairs

d) None of the above

InIndia ' Valley of Flowers' is found in

a) Kerala b) Uttarakhand
c) Kashmir d) Karnataka
P.V.Sindhu belongs to

a)  Tenms b) Badminton

c)  Hockey d) Women Cricket
Oncology is the diagnosis and treatment of

a) AIDS b) Malaria

¢)  Cancer d) Migrane

The full form of STD is

a)  Subscribers’ Trunk Dialing
b)  State Telephone Directory
c¢)  State Telephone Department
d)  State Trunk Dialing

The term Mixed Economy. implies the
co-existencenf

a) large and small scale industries

b)  domestic and multinational industries

¢)  agriculture and industry

d)  publicand private sector

'Core Sector' industries do not include

a) Sugar

b)  Newsprint and Electronics
c) - petrolenm and cooking coal
d)  Fertilizer =

New Capital Issue is placed in
a) Grey Market

b)  Primary Market

c) Black Market

d)  Secondary Market
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Who is presently the Governor of Reserve

Bank of India?

a)  Raghuram Rajan
b) A.K.Joseph

c) A.Balasuba Rao
d)  D.Subbarao

Which of the following is not a mamimnal?

a) fish b) cow
c) goat d) whale
Autopsy is connected with

a)  postmortem

b)  study ofliving cells
c) cancer

d) none of these

Earthquakes are caused by
a) tectonism
b)  denudation

-¢) the earth's revolution

d) theearth's rotation

Reserved forest is a forest

a) totally under government control

b)  meant mainly for tribal people

c)  ear-marked for commercial
exploitation with restricted grazing -

.d)  without any economic activity

* Whichis the hottest planet in solar system?

a), Venus
c) Mars

b) Neptune
d) Jupiter

The highest of the following ranks in Army is
of ‘

a)  Brigadier

b)  General

c)  Lieutenant General

d)  Major General

Who was the first woman judge of Supreme
Court of India?

a) Leila Seth

b) M. Fathima Bibi
¢)  AnnaChandi

d)  AnnaGeorge Malhotra 38
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Which among the following is India's national
song? .

a) Vande Mataram

b) Sare Jahan se Achcha

c) Jana-gana-mana

d) None of them

Deficit financing implies
a) printing new Currency notes
b) replacing new currency with worn out

currency

c) public expenditure in excess of public
revenue

d) public revenue in excess of public
expenditure

Right to property isa

a) fundamental right
b)  directive principle
¢) legalright
d) social right

Satyameva Jayate has been taken from the
a) Mundaka Upanishad

b)  RigVeda

¢}  NatyaSutra

d) None of these

A High Court judge addresses his letter of
resignation to

a)  thePresident L

b)  the Chiefjustice of his High Court

c)  the Chieflustice of India

d)  the Governor of the state

Greenwich Mean Time (GMT) is

a)  the UK standard time

b)  based on the local time of the meridian
passing through Greenwnch near
London -

¢) ° bothare correct

d) none of these is correct

A catalyst

a) alters the velocity of a reaction

b)  increases the velocity of a reaction
c)  decreasesthe velocity of a reaction
d)  starts areaction
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Cholesterol is a

a) type of chlorophyll

b) derivative of chloroform

¢) fattyalcohol found in animal fats
d) chromium salt

Anti-Terrorism day is observed on

a)  20"May
b) 21" May
c) - 22“May
d)  30"May

Which of the following teams reached IPL
final maximum times

a) Mumbai Indians

b)  Royal Challengers Bangalore

¢)  Kolkata Knight Riders

d) Chennai Super ngs

Which country will host 2019 Cricket World
Cup?

a) England

b)  Indian & SriLanka

c¢)  SriLanka & Pakistan

d)  India, Pakistan & Bangladesh

World Press Freedom Day is observed on

a) 3"May b) 3“April
¢)  13"May d) 15" April
Somyajeet Ghosh is related to
a)  LawnTennis
b)  Table Tennis
¢)  Badminton
d) Chess
ENGLISH

Choose the most suitable ‘one word' for each of the
following expressions given below:

76.

Life history of a person written by another
a) Autobiography

b) Biography

c)  Bibliography

d) Memoir
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A person who has no money to pay off his
debts

a) Debtor b) Pauper

c) Beggar d) Insolvent

A process involving too much official
formality

a) Nepotism b) Diplomacy
c) Red-tapism d) Bureaucracy
A disease which ends in death

a) Contagious- b) Lethal

¢). Fatal d) Deadly

A person who kills somebody especiaily for
political reasons

a) Criminal ~b) Murderer
c)  Assassin d) Hangman
Which can be easily believed

a) Credulous b) Creditable
c) Trustworthy d) Credible

One who plays a game for pleasure and not

professionally
a) Veteran b) Player
c) Connoisseur d) Amateur

Person who has long experience
a)  Stalwart 7 b) Pedantic
c) Itinerant d) Veteran

A general pardon of political offenders
a) Parole b) Forgiveness
c) Clemency d) Amnesty

A person who travels to a sacred place as an
act of religious devotion

a)  Hermit b) Pilgrim

c)  Saint d) Mendicant

From the alternatives given below, select
the one that best brings out the meaning of
the idiom/phrase:

The pros and cons

a) For and against a thing

b) Foul and fair

c) Good and evil

d) Former and latter
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A baker's dogen :
b) Charity

-a) Twelve

c) Thirteen d) Allowance
Once in a blue moon

a) Once inamonth

h) Bi-weekly

c) On rare occasions
d) Every now and then

To hold a brief for

a) To help someone

b) Todo someone a favour

c) To stay on for a brief period
d) Todefend someone

A man of weight

a) A fatperson

b)  Atruthful and trustworthy man
) A man of importance

. d) A notorious man

In each of the following questions, out of the
given alternatives, choose the one which
best expresses the meaning of the given
word.

SERENE

a) Solemn b) Meak

c) Delicate d) Calm

IMPETUOUS

a) Violent b) Resourceful

c) Pleasing d) Rash

AFFABLE

a) Friendly b) Cheerful

c) Helpful d) Neutral

VULGAR

a) Thoughtless b) Unkind

c) Coarse d) Illiterate

ABRIDGE

a)  Abort b) Span
‘0) Shorten d) Cross

DIVULGE

a)  Reveal b) Explore

c) Conceal d) Stip
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EXCERPT
a) Extract b) Invitation
c) Debate d) Speech

In each of the following questions, choose
the word opposite in meaning to the given
word.

TRANSPARENT

a)  Coloured b) Childlike
c) Opaque d) Imminent
SYMPATHY

a) Enmity b) Cruelty

c)  Abhorrence d) Apathy
HOLY

a) Offensive b) Orthodox
¢)  Profane d) Obnoxious
SPURIOUS

a)  False b) Genuine
¢)  Simple d) Systematic
IMPROPRIETY

a)  Decorum b) Purity

c) Ideal d) Conformity
'EXODUS 7

a) Restoration b) Return -
¢)  Home-coming d) Influx
#
FICKLE
a) Diseased b) Fast

c¢) Constant d) Quick

Pick out the most effective word from the
given words to fill in the blanks to make the

sentence meaningfully complete.

Heistoo to be deceived easily.

a)  strong b) kind

c)  honest d) intelligent
The accused td'the judge for mercy.
a) asked b) applied

¢)  demanded d) appealed
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Democracy some values which are
fundamental to the realisation of the dignity of
man.

a) cherishes
c) espouses

b) nourishes
d) nmurtures

His companions prevailed upon him not

o to violence.
a) refer " b) resort
¢)  prone d) provoke

The children | crackers to celebrate

the victory of their team.
a) burst b) fired
- €) shot d) broke

Evena glance will reveal the mystery.

a)  crude b) cursory

c) critical d) curious

His standard of living has since his son
joined service.

a) lifted

b)  increased

C)  risen

d) heightened

His first failure did not him from
making another attempt.

a) interfere

b)  forbid

c) frighten

d) deter

Some people from voting at the last
elections,

a) denied

b)  refused

¢) abstained

d)  declined

The doctor the patient from taking
certain medicines.

a) banned

b) prohibited
c) prescribed _
d) proscribed
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116.

117.
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119.
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In each of the following questions, an
incomplete statement followed by some
fillers is given. Pick out the best one which
can complete the incomplete statement
correctly and meaningfully.

L]

Whichever way you approach the
problem,

a) noone will not solve it.

b it will not be solve

c) it will not solve

d) it will not be solved

The more we looked at the piece of modern
art,
a) it looked better.
b)  the more we likeit
c)  welikeditless
d) the less we liked it

I shall see him
*a)  beforel shall leave for England
b) beforel leave for England
c)  beforel have left for England
d)  before I would be leaving for England

How much a man earns is as important as

a) when does he do so
b) how does he do it

c) where does he earn
d)  how well he spends it

To succeed in a difficult task,

a)  oneneedstobepersistence

b)  persistentis nceded

c)  youneed aperson of persistent
d)  oneneeds tobepersistent

Arrange the following four parts so as to
form a complete meaningful sentence and
then choose the correct combination.

Whenhe

(P) did not know

(Q) hewas nervous and

(R) heard the hue and cry at midnight
(S) whattodo

a) PQRS b) QSPR
c) RQPS d) SQPR

121.

122.

123.

124.

"125.

126.

expresses the same sentence

Work is the one thing
(P)  and without it

(Q) thatis necessary
(R) tokeep the world going
(S) weallshoulddie
a) QPSR b) QRPS
c) RPQS d) SRPQ
The man
(P) isgenerally the one
(Q) whocanwork very hard
(R) when he must work
(S) who canplay most heartily when he has

the chance of playing '

a) PSQR b) QRPS
c) QRSP d) SPQR
The natives of the Carribean
(P)  regarded the papaya
(Q) because of its ability
(R) asamagic tree
(S)  tokeep them healthy
a) PRQS b) PRSQ
c) RPQS d) RPSQ
Only
(P)  tomake himself
(Q) by shouting at the top of his voice
(R) washeable
(S) heard
a) PSQR b) PSRQ
c) QPRS d) QRPS

In each of the following questions, a
sentence has been given in Active / Passive
Voice. Out of the four alternatives
suggested select the one which best
in
Passive/Active voice,

His pocket has been picked.

a)  They have his pocket picked.

b)  Picking has beendone to his pocket.

c) Picked has been his pocket.

d)  Someone has picked his pocket.

I saw him leaving the house.

a)  Hehad been seen leaving the house.

b) He was seen to be leaving the house.

c) Leaving the house he was seen by me.

d)  Hewasseenleaving the house by me. 4o
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The residents celebrated the Independence

Day.

a)  The Independence Day is celebrated by
the residents,

b) The Independence Day was celebrated
by the residents.

c) The Independence Day has been
celebrated by the residents.

d)  Celebration of Independence Day was
done by the residents.

Who is creating this mess?

a) Wha has created this mess?

b) By whom has this mess been created?
c) By whom this mess is being created?
d) By whom is this mess being created?

I remember my sister taking me to the

museum. ‘

a) I remember taken to the museum by my
sister, ;

I remember myself being taken to the

museum by my sister.

¢)  lremember I was taken to the museum

by my sister.

I remember being taken to the museum

by my sister.

b) -

d)

In each of the following questions, a
sentence has been given in Direct/Indirect
Speech. Out of the four alternatives
suggested, select the one which best
expresses the same sentence in
Indirect/Direct Speech.

The teacher said, “Be quiet, boys.”

a)  The teacher said that they boys should
be quiet. '

b) The teacher called the boys and ordered
them to be quiet.

c)  Theteacherurged the boysto be quiet.

d)  The teacher commanded the boys that
they be quiet.
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He said 1o her, “Are you coming to the party?”

a) He asked her whether she was coming
to the party.

b) He told her if she was coming to the
party.

c) He asked her if she was coming to the

party. .
he asked her if she will be coming to the

party.

d)

The sage said, “God helps those who help

themselves.”

a)  The sage said that God helps those who
help themselves.

b)  The sage said that God helped those
whose helped themselves.

c) The sage said that God helps those whio
helped themselves.

d)  The sage said that God helped those
who help themselves.

Sarita said to me, “I will do it now or-never.”

a) Sarita told me that I would do it then or
never.

b) = Sarita told me that she would do it now
or never. ‘

c) Sarita told me that she will do that now
Or never.

d) Sarita told me that she would do it then
or never.

He said to her, “Don't read so fast.”

a) He told her not to read so fast.

b)  Headvised her don't read sofast.
c) He requested her not to read so fast.
d) He ordered her not to read so fast.

In each of the following questions, a word
has been written in four different ways out
of which only one is correctly spelt. Find the
correctly speit word. :

a)  Aliennate b) Allienate
c) Alienate d) Alienatie

a) Exemple b) Exampel

c) Example d) Exampal

a)  Commission 'b) Comision
c) Comission d) Commision
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a) Pasanger b) Pessenger
c) Pesanger d) Passenger
a) Blisfull b) Blissful
c) Blisful d) Blissfull

In the following question sentences have
been divided into parts. Find out which part
of the sentence has an error.

a) one of the most

b)  widely spread

c) bad habit

d) is the use of tobacco.

a) They walked

b) besides each other
c) in silence.

d) no error

a) If I were him

b)  1wouldhavetaught
¢) . thosecheats alesson.
d) noerror

a)  AsitwasRajan's

b) first interview he dressed him
c) in his most

d) formal suit. _e

a)  Inspite of the doctor’s stern warning
b) he continued taking

c) sugar in his tea.

d) noerror

a)  Myselfand Gopalan

b) will take care of

c) the function on Sunday.
d) no error

Pick the correct answer choice for filling the
blanks in each of the following sentences.

I was surprised

a) at his letting out the secret

b)  why he let out the secret

c) that he let out the secret

d) by hisletting out the secret.
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Itis not possible to

a)  mixoil in water

b) mix oil into water
c) mix oil with water
d) mix oil by water.

He and escaped.
a) forced the door open
b) forced open the door
c) open forced the door
d)  thedoor forced open.
Let ._finish this work as soon as possible.
a) you and I

b)  youandme

c) Iand you

d) me and you.

~_the room the door hit him on the
brow.
a)  While entering
b)  Asheentered
c) Onentering
d) On having entered.

NUMERICAL ABILITY
Complete the series 2,4,7,11,7

a) 14 b) 15

c) 16 d 17

What will be the simple interest on Rs. 1,000
@ 10% per annum?

a) 10 b) 50

c) 200 d) 100

When .a number is divided by 4, the quotient is
28, what is the number?

a) 112 b) 46

c) 86 d) 96

A number exceeds its three-fifths by 14. What
is the number?
a) 70
c) 35

b) 40
d) 45
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A husband and wife have two sons. Both sons
are married and have one child each. How
many members are there in the whole family?
a) 6 by 4

c) 8 d 7

A's salary was increased by 40% and then :

decreased by 20%. On the whole, A's salary is

increased by
a) 20% b) 12%
c) 10% d 15%

If a shirt costs 64 after a 20% discount, what
was its original price?

a) 76 b) 80

c) 88 d) 86

The price of sugar having risen by 60%, by

how much per cent must a householder reduce
his consumption of sugar so as not to increase

his expenditure?
a) 60% by 40%
c) 20% d) 37.5

Kamal receives marks 91,88,86 and 78 in four
out of five subjects. What must he score in his
fifth subject in order to average 85?

a) 82 b) 83

c) 85 d) 86

Rs.8000 amounts to Rs. 10,648 in 3 years at .

compound interest. The rate of interest is
a) 8% b 9%
c) 10% d 12%

£

A boy was asked to multiply a certain number
by 35. Instead, by mistake he multiplied it by
53 and got his answer more than the correct
one by 216. The number to be multiplied was
a) 12 b) 6

c) 14 dy 18

A mixture of 40 litres of milk and water
contains 10% of water. How much water is to
be added to the mixture so that the water may
be 20% in the new mixture.

a) 5 litres b) 4 litres

¢) 6.5 litres d) 7.5litres

163.

164.

165.

166.

167.

168.

169.

170.

171.

‘a) 50mt b)

A train 100 metres long running at 54 km/hr
takes 20 seconds to pass a bridge. The length
of the bridge is

150 mt

¢) 200 mt d) 620mt

The ratio of milk and water in 60 litres of
adulterated milk is 2 : 1. If the ratio of milk and
water is to be 1 ; 2, then the amount of water to
be added further is
a) 20 litres

c) 40 litres

b) 30 litres
d) 60 litres,

A dishonest shopkeeper uses a weight of 800
gm for a kg and professes to sell his goods at
cost price. His profit is
a) 20%
¢c) 4%

by 21%
d) 25%

By selling 11 oranges for a rupee, a man loses
10% . How many oranges for a rupee should

he sell to gain 10%?

a) 9 b) 10
c) 8 d) 5
Change 1/8 into percentage

a) 12.5% b) 15%
c) 8% d) 25%
12.5% of 80 is equal to

a) 8 b) 20
¢) 10 d) 40

The smallest of the fractions given below.
a) 9/10 by 11/12
c) 23/28 d) 32/33

Ram's income is 20% less than Shyam's. How
much is Shyam's income more than Ram's in

percentage terms? :

a) 20% b) 30%

c) 25% d 15%

Which of the following is not a prime number?
a) 23 b) 29

c) 43 d) 21
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172.

173.

174.

175.

If the numbers from 1 to 24, which are
divisible by 2 are arranged in descending
order, which number will be at the 8" place
from the bottom?

a) 10 b) 12

c) 16 d) 18

Find 12% of 5000
a) 620 d)
c) 680 d)

600
720

Which of the following is a prime number?
a) 19 b) 20
c) 21 d) 22

Anil is half his father's age now, Fifteen years
ago, he was one-third of his father's age. How
old will Anil be after five years?

a) 45years 'b) 40years

c) 35years d) 30years

GENERAL INTELLIGENCE

176.

177.

178.

& REASONING

If it is true that ' All men are honest' and 'All
politicians are men' for which among the
following is it impossible to follow from the
given premises?

a)  Some politicians are not honest

b) . Allpoliticians are honest

¢)  Onepolitician is honest

d)  Allhonest persons are politicians

Which of the following pairs is unlike the
others?

a) life-death
c) sharp-blunt

b) odour-smell
d) music-noise

Many smokers suffer from cancer. Which of
the following inference you draw from it?

a)  Allcancer patients are smokers

b)  Smoking may lead to cancer

¢)  Most smokers suffer fromcancer

d)  Smoking always leads to cancer.

179.

180.

181.

182.

183.

184.

185.

Most of the students in a school are of

outstanding merit, Which of the following

inferences you draw from it?

a) Some of the students are of outstanding
merit.

b) All students are of outstanding merit

¢)  Some students are below outstanding
merit

d) None of the above.

A is the sister of B but B is not the sister of A.
What is the relation between A and B?

a) Sister & brother  b) Brother & brother

c) Sister & Sister d) None of the above

A boy in rainy season while going to school
takes one step forward but he has to take two
steps towards his-home. How can he reach his
school?

a) By using an umbrella

b) = Bymeansofacycle

c) By facing home and walking

d) By facing the school

Rubber is wrapped round the electric wire for:
a)  Protecting the wire

b)  Forbetter sale

¢)  Itisbad conductor of electricity

d)  Forbetter handling '

Mohan was born on February 29 in the year
1960. How may birthdays will be celebrate

upto 1976 February?
a) 16 b) 8
c) 4 d 5

My age is two years less than twice of my
brother. If] am sixteen year old, how old is my
brother?

a) 7 b) 9

c) 10 d) 14

The sum of two consecutive numbers is 55.
What is the larger number?

a) 25 b) 26

c) 27 d) 28
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186.

187.

188.

189.

190.

191.

192.

193.

Ram is richer than Shyam but not so rich as
Sohan but poorer than Ramesh then Shyam
is

a) Poorer than Ramesh

b) Richer than Sohan

¢)  Aspooras Sohan

d) Richer than Ramesh

Find the odd one:

a) Teacher b) Professor

¢) Student d) Head Master

If you walk three miles north, then turn back :

and walk four miles. How far are you from the :

starting point?
a) 5 miles b) 3 miles
¢) 1mile d) 7miles

India : Parliament :: Iran :?
a) Diet

b) House of Commons

¢) People's Parliament

d) Majlis

Doctor : Patient :: Advocate :?

a) Lawyer b) Client

¢) Witness d) Judge
Paisc:Rupee::?:Dollar

a) Pennies b) Francs
¢) Liras d) Cents
Good : Excellent:: Hill:? . - ¢

a) Dune b) Mountain
¢) Range d) Rock
Darkness : Light :: Ignorance :?

a) Scholar b) Sun

¢) Genius d) Knowledge

erwcasvmwa

cesmmmen

194.

195.

196.

197.

198.

199.

200.

Pearl : Necklace ;: Flower :?7

a) Garden b) Bouquet
¢) Petal d) Plant
Carpet : Floor :: 7: Wall

a) Wall Paper b) Wall hanging
c) Scenery d) Oil pamnting
Kaziranga : Rhino :: ?: Lion

a) Corbett b) Kanha

c) Gir d) Sunderbans

A father is now three times as old as his son.
Five years back, he was four times as old as his
son. The age of the son s

a) 12 b) 15
c) 18 d 20
3,7,15,31,63,7

a) 92 by 115
c) 127 , d) 131

If SIR is written as PSPIPR, then Man can be
written as
a) PMANP
¢) MANP

b) PMPAPN
d) MPANP

If day before yesterday was Tuesday, the day
after tomorrow will be

a) Monday-

b) Wednesday

c) Friday

d) Saturday
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Answer Key- Set-A

1 b — 51 a
2 a -~ . 52 d
3 d .~ 53 a _-
4 d G 54 b .
5 a .~ 55 a .
6 b - 56 a
7 d 57 a.
8 d 58 a.
9 a 59 7
10 b . 60 &
11 d 61 b
12 d 62 b
13 C 63 a
14 c 64 c
15 b 65 s .
16 d 66 a
17 c 67 a
18 d 68 C .
19 d 69 a.
20 d 70 [
21 a 71 b .
22 d 72 d-
23 b 73 a
24 C 74 a -
25 C - 75 b
26 b . 76 b.
27 C 77 d .
28 C- 78 C -
29 c 79 c .
- 30 C 80 c
31 c 81 d
32 [ 82 d -
33 a . 83 d
34 d 84 d
35 b - 85 b
36 b - 86 a -
37 b - 87 (3
38 d - 88 C -
39 a 89 d
40 b - 90 C
41 b - 91 d
42 d 92 d .
43 a 93 a.
“ed a. Q4 C
45 d 95 Cc
46 a 96 a
47 c 97 a’
48 b 98 c
49 b 99 d
50 C - 100 c
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101 b 151 c
= 102 a . 152 d
103 d . 153 a .
104 G« 154 C_
105 d 155 c
106 d 156 b
107 a 157 b -
108 b 158 d
109 a 159 a
110 b 160 [
111 c 161 a -
112 d - 162 a
113 C . 163 c
114 b 164 d -
115 d 165 d-
116 d - 166 a.
117 b 167 a
118 b 168 c
119 d 169 [
120 c 170 c
121 b . 171 d
122 b 172 c
123 a 173 to be deleted
124 d . 174 =)
125 d 175 c
126 d 176 a
127 b 177 b .
128 d 178 b
129 d 179 & -
130 c 180 a
131 C 181 c .
132 a 182 c
133 d 183 G -
134 a . 184 b
135 c - 185 d -
136 [ 186 a_
137 a- 187 c
138 d. 188 e -
139 b - 189 d-
140 [ 190 b
141 b 191 d
142 a 192 b
143 b 193 d
144 c 194 b -
145 a 195 a
146 a 196 c -
147 G 197 b
148 b 198 C
149 b - 199 b
150 b 200 d

49



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15

